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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- Yet life is not literature, nor is literature life; the two are ----—--—-- .

1) consistent 2) distinct 3) temporary 4) adequate
2-The hurricane would not have had such a/an --------—- effect on the coastal village had
the storm surge not arrived during an abnormally high tide.

1) devastating 2) ultimate 3) calculating 4) obligatory

3-Federica expressed doubt about the existence of true altruism, claiming that no one

makes a ---------- without expecting to receive something in return in one form or
another.

1) facility 2) hypothesis 3) premise 4) sacrifice
4- As a supporter of the value of free trade, Bennett was often called upon to give

speeches around the world ---------- the virtues of unencumbered commerce.

1) monitoring 2) purchasing 3) praising 4) exchanging

5- The efforts to revive the local economy after the departure of the town’s largest
employer were eased by the construction of a new arts center that would infuse the
community with

much-needed -----=---- .
1) revenue 2) scheme 3) schedule 4) survival
6-Eagerly advocating rehabilitation , Gena has always believed that individuals who have
been  imprisoned deserve the opportunity to return to society as ---------- citizens.
1) voluntary 2) crucial 3) productive 4) internal
7-With -----nuanm approval, the parliament accepted the new law that would prohibit
companies from discriminating according to race in their hiring practices.
1) intrinsic 2) fanatical 3) sporadic 4) unanimous
8- Many medical researchers now believe that there is such a thing as being too clean.
The “hygiene hypothesis” suggests that excessively sanitary conditions can ----------- a
person’s resistance to disease.
1) initiate 2) diminish 3) abandon 4) undertake
9- One popular misconception is that these subsidies produce lower food prices, and so
are a ---—--—-—--- to consumers. This analysis ignores the fact that consumers are also
paying for these subsidies through taxes.
1) transfer 2) device 3) boon 4y status
10-As one of the most popular writers of the 20th century, Jack Kerouac authored several
books that ------- to a wide variety of readers.
1) appeal 2) attribute 3) appear 4y devote

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The climate is expected to increasingly shape and (11) ---------- by cities. In a vicious circle.
climate change will increase energy demand for air conditioning in cities, (12) ---------- will
add to greenhouse gas emissions. It could also raise temperatures in urban areas (13) ----------
2-6 °C. “Heat, pollution, smog and ground-level ozone [from cities] affect surrounding areas,

reducing agricultural yields, increasing health risks and (14) ---------- tornadoes and
thunderstorms. (15) ---------- on urban water supplies are expected to be dramatic,” the report
says. Cities like New Delhi, in the drier areas, will be hit particularly hard.

11- 1) be shaped 2) shaped 3) is shaped 4) be shaping

12- 1) where they 2) they 3) that 4) which

13- 1) high up 2) by 3) for 4) at

14- 1) to produce 2) and produce 3) and producing 4) which produces

15- 1) The impacts of climate change 2) The climate change impact

3) The impact changes in climate 4) The change in climate impact



Y amis 509C S 0L

Reading Comprehension

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits
each space. Then mark the correct choice on your answer sheet.

PASSAGE 1:

The first economist in the true meaning of the word was the Scotsman Adam Smith (1723—
1790). He defined the elements of a national economy: products are offered at a natural price
generated by the use of competition - supply and demand - and the division of labor. He
maintained that the basic motive for free trade is human self interest. The so-called self interest
hypothesis became the anthropological basis for economics. Thomas Malthus (1766-1834)
transferred the idea of supply and demand to the problem of overpopulation. The United States
of America became the place where millions of expatriates from all European countries were
searching for free economic evolvement.

The Industrial Revolution was a period from the 18th to the 19th century where major changes
in agriculture, manufacturing, mining, and transport had a profound effect on the
socioeconomic and cultural conditions starting in the United Kingdom, then subsequently
spreading throughout Europe, North America, and eventually the world. The onset of the
Industrial Revolution marked a major turning point in human history; almost every aspect of
daily life was eventually influenced in some way. In Europe wild capitalism started to replace
the system of mercantilism (today: protectionism) and led to economic growth. The period
today is called industrial revolution because the system of Production, production and division
of labor enabled the mass production of goods.

16- What does the passage mainly discuss?

1) National Economy 2) Human Self Interest
3) System of Mercantilism 4) Industrial Revolution
17- According to Adam Smith, ---—----—-----eu-- as mentioned in the passage.

1) products are produced by the use of competition

2) the basic incentive for free trade is human self interest

3) products are offered at a national price based on supply and demand
4) the main motive for free trade is the division of labor

18- If the author is right, the hypothesis —----------n-n--— became the anthropological foundation
for economics.

1) rejecting self interest 2) known as self interest

3) known as supply and demand 4) rejecting supply and demand

19- It is mentioned in the passage that millions of -----------n-ece--- were looking for free economic
development in the United States at the time of Thomas Malthus.

1) American emigrants 2) European merchants

3) American merchants 4) European emigrants

20- According to the passage, the industrial revolution --------e-e-eceeeme the socioeconomic and
cultural conditions starting in the United Kingdom.

1) artificially developed 2) deeply influenced

3) slightly changed 4) superficially affected

21- The author believes that the ------s-eememeeeme of the Industrial Revolution ----—---weeee-memv in

human history.

1) end — had a disastrous effect on

2) beginning — had a disastrous effect on

3) beginning — represented a very important change in
4) end — indicated a very important change in
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22- What does the word mercantilismin line 15 mean?

1) Attitude that emphasizes metaphysical profit or success

2) Supporting foreign industry by cutting taxes and tariffs on foreign imports

3) Theory and system of economy prevailing in Europe after the decline of feudalism
4) Policy which protects major industry and strives to import much and export little

PASSAGE 2:

We are dealing here with the economic activity that is neither taxed nor monitored by a
government, contrasted with a formal economy. The informal economy is thus not included in
that government's Gross National Product (GNP). Although the informal economy is often
associated with developing countries, all economic systems contain an informal economy in
some proportion.

Informal economic activity is a dynamic process which includes many aspects of economic and
social theory including exchange, regulation, and enforcement. By its nature, it is necessarily
difficult to observe, study, define, and measure. No single source readily or authoritatively
defines informal economy as a unit of study.

The terms "under the table" and "off the books" typically refer to this type of economy. The
term black market refers to a specific subset of the informal economy. The term "informal
sector" was used in many earlier studies, and has been mostly replaced in more recent studies
which use the newer term.

Micro economics are focused on an individual person in a given economic society and Macro
economics is looking at an economy as a whole. (town, city, region)

23- What would the possible topic be for the above passage?

1) Micro Economics 2) Informal Economy

3) Gross National Product 4) Developing Countries

24- One can infer from the passage that a formal economy is ~--e-evmmmmmmmmemmn .

1) not taxed by the government 2) not taxed by the private sector
3) monitored by the private sector 4) controlled by the government
25- According to the passage, -=-=ve-e--mmmmmmmm- have informal economies.

1) only developed countries 2) only developing countries

3) developing countries often 4) developed countries often

26- Which of the following is NOT true of informal economy according to the passage?
1) It is regarded as a static activity.

2) It cannot be defined as a unit of study.

3) Studying and defining it appears to be very complicated.

4) It contains many economic and social features.

27- One can infer from the passage that the term black market is ---------evece-eev- economy in
meaning.

1) narrower than informal 2) broader than informal

3) equivalent to off the books 4) equivalent to under the table
PASSAGE 3:

With the fall of the Iron curtain and the transition of the countries of the Eastern Block towards
democratic government and market economies the idea of the post-industrial society is brought
into importance as its role is to mark together the significance that the service sector receives at
the place of the industrialization, as well as the growing need and valuation of knowledge and
creativity for the businesses. In fact the idea of the post-industrial society has its beginning in
the 70s but the term came to common usage to describe the growth of economies like the
Chinese at the period.
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With the spread of Internet as a mass media and communication medium especially after 2000-
2001 the idea for the Internet and information economy is given place because of the growing
importance of ecommerce and electronic businesses, also the term for a global information
society as understanding of a new type of "all-connected" society is created. In the late 00s the
new type of economies and economic expansions of countries like China, Brazil and India
bring attention and interest to different from the usually dominating Western type economies
and economic models.

28- What does the passage mainly discuss?

1) Growth of Economies like China

2) Spread of Internet as Mass Media

3) Post-industrial Societies of 21* Century

4) Economy in Late 20" and Early 21* Century

29- Which of the following is true of post-industrial society according to the passage?
1) It respects creativity for the businesses.

2) It gives significance to the industrialization.

3) It regards the role of knowledge in industrialization very trivial.

4) It devalues the significance of science in the businesses.

30- The author mainly deals with —------—-———- in the last paragraph.
1) electronic economy 2) electronic advancements
3) the economy of developing countries 4) the economy of developed countries
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O30 Y g IS o2alie http://92.242.195.235/KeyArshad/NOET/Questionskey.aspx

Vgl WVlgw 1S oasliwe

Vg1 WYlguw dulS

il 09,8 Qolisuwly o) louis a8 g9 il aiis, pU il @i, AS
bl pgle 1 C slaidl pgle acgazo 1105
o, lowi WS o) lowis ;S o) louis AUy S o, louis ;S o) lowis S
Jlguw Quo Jlguw Quo Jlguw Quo Jlguw uo Jlguw Quo
1 2 31 3 61 4 91 2 121 3
2 1 32 2 62 1 92 1 122 2
3 4 33 2 63 4 93 2 123 1
4 3 34 1 64 3 94 3 124 3
5 1 35 3 65 1 95 2 125 4
6 3 36 4 66 1 96 4 126 1
7 4 37 1 67 3 97 1 127 3
8 2 38 4 68 2 98 2 128 4
9 3 39 1 69 2 99 3 129 3
10 1 40 1 70 4 100 3 130 4
11 1 41 4 71 2 101 1 131 2
12 4 42 4 72 2 102 1 132 2
13 2 43 4 73 1 103 4 133 3
14 3 44 3 74 2 104 1 134 4
15 1 45 2 75 1 105 2 135 3
16 4 46 4 76 2 106 2 136 1
17 2 47 2 77 2 107 3 137 2
18 2 48 2 78 3 108 3 138 4
19 2 49 3 79 1 109 1 139 2
20 2 50 1 80 2 110 2 140 3
21 3 51 2 81 3 111 1 141 1
22 3 52 3 82 1 112 3 142 1
23 2 53 1 83 3 113 4 143 1
24 4 54 4 84 4 114 1 144 4
25 3 55 4 85 1 115 2 145 2
26 1 56 2 86 4 116 4 146 3
27 1 57 3 87 4 117 1 147 1
28 4 58 1 88 4 118 4 148 3
29 1 59 3 89 3 119 2 149 3
30 1 60 2 90 4 120 2 150 2
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